BID SUMMARY

N State Street Improvements

Project No. 2019-010 Planning & Development Department Wednesday, Februrary 5, 2020

3:00 PM

Engineer's Estimate of Cost: \$835,000

CITY OF WESTERVILLE

21 S. STATE STREET WESTERVILLE, OH 43081

COMPANY	INFORMAL TOTAL OF BID ITEMS (Lines 1- 69)	ADJUSTED TOTAL OF BID ITEMS (Lines 1- 69)	DIFFERENCE
Decker Construction Company	\$948,537.97	\$948,537.97	\$0.00
Strawser Paving	\$1,037,938.80	\$1,037,938.80	\$0.00
Columbus Asphalt Paving	\$1,086,788.18	\$1,086,788.18	\$0.00
Complete General Construction	\$1,231,527.77	\$1,231,527.77	\$0.00

EXPLANATION: The informal total of bid items listed above represents the bidder's total amount for the project. The adjusted total of bid items amount represents the corrected total that was necessary to correct any bidder's mathematical errors.

N STATE STREET IMPROVEMENTS BID TABULATION

Bid Date: February 5, 2020, 3:00 PM Engineer's Estimate: \$835,000.00			3040 McKinley A	venue	4505 5						
Engineer's Estimate: \$835,000.00				venue	1595 Frank F	Rd .	1196 Technolo	gy Dr	1221 E 5th A	1221 E 5th Ave	
		Engineer's Estimate: \$835,000.00		он	Columbus, C	Н	Gahanna, O	ЭН	Columbus, OH		
			(614) 488-79	58	(614) 276-527	73	(614) 759-98	800	(614) 258-95	515	
ITEM SPEC CMS DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	
N STATE STREET IMPROVEMENTS											
ROADWAY											
1 201 COLS CLEARING AND GRUBBING	1.00	LS	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$3,500.00	\$3,500.00	\$15,000.00	\$15,000.00	
2 202 COLS PAVEMENT REMOVED	465.00	SY	\$19.58	\$9,104.70	\$10.00	\$4,650.00	\$12.50	\$5,812.50	\$30.00	\$13,950.00	
3 202 COLS PIPE REMOVED	108.00	FT	\$52.14	\$5,631.12	\$15.00	\$1,620.00	\$48.00	\$5,184.00	\$21.00	\$2,268.00	
4 202 COLS CURB REMOVED	118.00	FT	\$8.88	\$1,047.84	\$8.00	\$944.00	\$6.00	\$708.00	\$10.00	\$1,180.00	
5 202 COLS CURB AND GUTTER REMOVED	1,485.00	FT	\$5.73	\$8,509.05	\$8.00	\$11,880.00	\$3.75	\$5,568.75	\$10.00	\$14,850.00	
6 202 COLS CATCH BASIN OR INLET REMOVED	6.00	EA	\$535.94	\$3,215.64	\$500.00	\$3,000.00	\$865.00	\$5,190.00	\$700.00	\$4,200.00	
7 202 COLS MANHOLE REMOVED	2.00	EA	\$1,711.78	\$3,423.56	\$500.00	\$1,000.00	\$1,700.00	\$3,400.00	\$900.00	\$1,800.00	
8 202 COLS WALK REMOVED	733.00	SF	\$2.92	\$2,140.36	\$2.00	\$1,466.00	\$4.75	\$3,481.75	\$4.00	\$2,932.00	
9 202 ODOT SPECIAL - FILL AND PLUG EXISTING CONDUIT	61.00	FT	\$15.84	\$966.24	\$15.00	\$915.00	\$30.00	\$1,830.00	\$18.00	\$1,098.00	
10 203 COLS EXCAVATION	1,182.00	CY	\$41.07	\$48,544.74	\$35.00	\$41,370.00	\$33.50	\$39,597.00	\$30.00	\$35,460.00	
11 204 COLS SUBGRADE COMPACTION	2,388.00	SY	\$1.11	\$2,650.68	\$2.00	\$4,776.00	\$2.50	\$5,970.00	\$4.00	\$9,552.00	
12 204 COLS PROOF ROLLING	2.00	HOUR	\$74.36	\$148.72	\$150.00	\$300.00	\$90.00	\$180.00	\$300.00	\$600.00	
13 12608 WEST 4" CONCRETE WALK	642.00	SF	\$6.40	\$4,108.80	\$6.50	\$4,173.00	\$12.00	\$7,704.00	\$10.00	\$6,420.00	
14 12608 WEST 6" CONCRETE WALK	54.00	SF	\$7.66	\$413.64	\$7.50	\$405.00	\$15.00	\$810.00	\$15.00	\$810.00	
15 12608 WEST CURB RAMP	4.00	EA	\$598.36	\$2,393.44	\$87.00	\$348.00	\$275.00	\$1,100.00	\$750.00	\$3,000.00	
16 12608 WEST DETECTABLE WARNING, TYPE E	32.00	SF	\$25.16	\$805.12	\$31.00	\$992.00	\$32.00	\$1,024.00	\$47.00	\$1,504.00	
EROSION CONTROL											
17 12653 WEST PROCESSED TOPSOIL, FURNISHED AND PLACED	165.00	CY	\$72.10	\$11,896.50	\$70.00	\$11,550.00	\$63.00	\$10,395.00	\$35.00	\$5,775.00	
18 12659 WEST SEEDING AND MULCHING	1,486.00	SY	\$2.00	\$2,972.00	\$2.00	\$2,972.00	\$2.90	\$4,309.40	\$4.50	\$6,687.00	
19 12659 WEST COMMERCIAL FERTILIZER	0.33	TON	\$450.00	\$148.50	\$750.00	\$247.50	\$520.00	\$171.60	\$450.00	\$148.50	
20 12659 WEST WATER	16.00	MGAL	\$100.00	\$1,600.00	\$50.00	\$800.00	\$73.00	\$1,168.00	\$300.00	\$4,800.00	
21 12832 WEST TEMPORARY SEDIMENTATION AND EROSION CONTROLS	1.00	LS	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$7,700.00	\$7,700.00	\$15,000.00	\$15,000.00	
DRAINAGE											
22 604 COLS DOUBLE CURB AND GUTTER INLET (AAS125B)	5.00	EA	\$3,511.78	\$17,558.90	\$3,400.00	\$17,000.00	\$4,600.00	\$23,000.00	\$4,100.00	\$20,500.00	
23 604 COLS MANHOLE, TYPE C	1.00	EA	\$4,983.55	\$4,983.55	\$5,800.00	\$5,800.00	\$5,600.00	\$5,600.00	\$6,100.00	\$6,100.00	
24 604 COLS MANHOLE ADJUSTED TO GRADE	1.00	EA	\$423.22	\$423.22	\$750.00	\$750.00	\$395.00	\$395.00	\$1,000.00	\$1,000.00	
25 605 COLS 6" PIPE UNDERDRAINS, 720.12, TYPE SP.	1,480.00	FT	\$10.37	\$15,347.60	\$7.75	\$11,470.00	\$8.35	\$12,358.00	\$22.00	\$32,560.00	
26 611 ODOT 12" CONDUIT, TYPE B, 706.02	99.00	FT	\$103.33	\$10,229.67	\$159.00	\$15,741.00	\$215.00	\$21,285.00	\$225.00	\$22,275.00	
27 611 ODOT 42" CONDUIT, TYPE B, 706.02	36.00	FT	\$194.10	\$6,987.60	\$300.00	\$10,800.00	\$910.00	\$32,760.00	\$460.00	\$16,560.00	
28 611 ODOT CATCH BASIN, NO. 3, AS PER PLAN	1.00	EA	\$5,319.55	\$5,319.55	\$9,700.00	\$9,700.00	\$3,800.00	\$3,800.00	\$9,000.00	\$9,000.00	
PAVEMENT											

N STATE STREET IMPROVEMENTS BID TABULATION

City of Westerville, Schrock Road at Park Meadow, Westerville, OH, 43081 Bid Date: February 5, 2020, 3:00 PM						Decker Construction Company Strawser Paving			Columbus Asphal	•	Complete General Construction 1221 E 5th Ave		
Engineer's Estimate: \$835,000.00		3040 McKinley Avenue		1595 Frank Rd		1196 Technolo							
				Columbus, OH		Columbus, OH		Gahanna, OH		Columbus, OH			
					(614) 488-79	58	(614) 276-52	73	(614) 759-98	00	(614) 258-95	115	
ITEM SF	PEC	CMS DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	
29 2	252	COLS FULL DEPTH PAVEMENT SAWING	1,502.00	FT	\$1.20	\$1,802.40	\$2.00	\$3,004.00	\$2.00	\$3,004.00	\$2.00	\$3,004.00	
30 2	254	COLS PAVEMENT PLANING, ASPHALT CONCRETE (T = 3")	22,313.00	SY	\$3.26	\$72,740.38	\$2.25	\$50,204.25	\$3.00	\$66,939.00	\$3.26	\$72,740.38	
31 3	301	ODOT ASPHALT CONCRETE BASE, PG64-22	418.00	CY	\$153.26	\$64,062.68	\$171.00	\$71,478.00	\$172.00	\$71,896.00	\$161.48	\$67,498.64	
32 3	304	ODOT AGGREGATE BASE	407.00	CY	\$58.12	\$23,654.84	\$62.00	\$25,234.00	\$50.00	\$20,350.00	\$70.00	\$28,490.00	
33 4	407	ODOT NON-TRACKING TACK COAT	3,256.00	GAL	\$4.25	\$13,838.00	\$4.50	\$14,652.00	\$4.65	\$15,140.40	\$4.25	\$13,838.00	
34 4	441	ODOT ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG70-22M	833.00	CY	\$191.26	\$159,319.58	\$250.00	\$208,250.00	\$230.00	\$191,590.00	\$199.48	\$166,166.84	
35 4	441	ODOT ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	1,166.00	CY	\$165.26	\$192,693.16	\$167.00	\$194,722.00	\$163.00	\$190,058.00	\$173.48	\$202,277.68	
36 12	2452	WEST 8" NON-REINFORCED CONCRETE PAVEMENT	224.00	SY	\$80.96	\$18,135.04	\$73.00	\$16,352.00	\$83.00	\$18,592.00	\$100.00	\$22,400.00	
37 12	2609	WEST CURB, 18" STRAIGHT	110.00	FT	\$28.78	\$3,165.80	\$24.00	\$2,640.00	\$20.00	\$2,200.00	\$55.00	\$6,050.00	
38 12	2609	WEST COMBINATION CURB AND GUTTER, TYPE 2	1,480.00	FT	\$15.97	\$23,635.60	\$22.00	\$32,560.00	\$22.00	\$32,560.00	\$35.00	\$51,800.00	
		WATER WORK											
39 12	2801	WEST 6" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS	56.00	FT	\$48.94	\$2,740.64	\$85.00	\$4,760.00	\$270.00	\$15,120.00	\$370.00	\$20,720.00	
40 12	2801	WEST 16" ZINC COATED DUCTILE IRON WATER PIPE AND FITTINGS	44.00	FT	\$307.86	\$13,545.84	\$525.00	\$23,100.00	\$680.00	\$29,920.00	\$650.00	\$28,600.00	
41 12	2802	WEST 6" VALVE AND APPURTENANCES	5.00	EA	\$1,023.22	\$5,116.10	\$836.59	\$4,182.95	\$1,400.00	\$7,000.00	\$900.00	\$4,500.00	
42 12809	2809	WEST FIRE HYDRANT, RELOCATED	5.00	EA	\$3,162.83	\$15,814.15	\$4,750.00	\$23,750.00	\$7,500.00	\$37,500.00	\$1,500.00	\$7,500.00	
		SANITARY SEWER											
43 6	604	COLS MANHOLE ADJUSTED TO GRADE	1.00	EA	\$483.22	\$483.22	\$750.00	\$750.00	\$395.00	\$395.00	\$1,700.00	\$1,700.00	
		ELECTRICAL											
44 13	3200	WEST 4-5"/2'4" SCH 40 PVC CONDUIT BANK, CONCRETE ENCASED	8.00	FT	\$232.78	\$1,862.24	\$232.00	\$1,856.00	\$235.00	\$1,880.00	\$250.00	\$2,000.00	
		TRAFFIC CONTROL											
45 6	621	COLS RPM	414.00	EA	\$27.09	\$11,215.26	\$27.00	\$11,178.00	\$27.00	\$11,178.00	\$26.30	\$10,888.20	
46 6	630	COLS GROUND MOUNTED SUPPORT, NO. 3 POST	143.00	FT	\$14.63	\$2,092.09	\$14.00	\$2,002.00	\$14.75	\$2,109.25	\$14.20	\$2,030.60	
47 6	630	COLS SIGN, FLAT SHEET, TYPE G	42.50	SF	\$24.51	\$1,041.68	\$25.00	\$1,062.50	\$24.75	\$1,051.88	\$23.80	\$1,011.50	
48 6	630	COLS REMOVAL OF GROUND MOUNTED SIGN AND DISPOSAL	2.00	EA	\$18.54	\$37.08	\$18.00	\$36.00	\$18.75	\$37.50	\$18.00	\$36.00	
49 6	630	COLS REMOVAL OF GROUND MOUNTED SIGN AND REERECTION	5.00	EA	\$46.35	\$231.75	\$46.00	\$230.00	\$46.00	\$230.00	\$45.00	\$225.00	
50 6	630	COLS REMOVAL OF GROUND MOUNTED POST SUPPORT AND DISPOSAL	7.00	EA	\$18.54	\$129.78	\$18.00	\$126.00	\$18.75	\$131.25	\$18.00	\$126.00	
51 6	644	COLS LANE LINE, 4 INCH	0.71	MILE	\$1,611.95	\$1,144.48	\$1,600.00	\$1,136.00	\$1,480.00	\$1,050.80	\$1,565.00	\$1,111.15	
52 6	644	COLS CENTER LINE	0.74	MILE	\$5,522.86	\$4,086.92	\$5,550.00	\$4,107.00	\$5,600.00	\$4,144.00	\$5,362.00	\$3,967.88	
53 6	644	COLS CHANNELIZING LINE, 10 INCH	3,612.00	FT	\$1.34	\$4,840.08	\$1.30	\$4,695.60	\$1.30	\$4,695.60	\$1.30	\$4,695.60	
54 6	644	COLS STOP LINE	278.00	FT	\$5.51	\$1,531.78	\$5.50	\$1,529.00	\$7.80	\$2,168.40	\$5.35	\$1,487.30	
55 6	644	COLS TRANSVERSE/DIAGONAL LINE	506.00	FT	\$5.46	\$2,762.76	\$5.50	\$2,783.00	\$6.25	\$3,162.50	\$5.30	\$2,681.80	
56 6	644	COLS LANE ARROW	46.00	EA	\$80.34	\$3,695.64	\$80.00	\$3,680.00	\$83.00	\$3,818.00	\$78.00	\$3,588.00	
57 6	644	COLS DOTTED LINE, 5 INCH	443.00	FT	\$1.55	\$686.65	\$1.50	\$664.50	\$2.60	\$1,151.80	\$1.50	\$664.50	

N STATE STREET IMPROVEMENTS BID TABULATION

City of Westerville, Schrock Road at Park Meadow, Westerville, OH, 43081 Bid Date: February 5, 2020, 3:00 PM Engineer's Estimate: \$835,000.00				Decker Construction Company 3040 McKinley Avenue Columbus, OH (614) 488-7958		Strawser Paving 1595 Frank Rd Columbus, OH (614) 276-5273		Columbus Asphalt Paving 1196 Technology Dr Gahanna, OH (614) 759-9800		Complete General Construction 1221 E 5th Ave Columbus, OH (614) 258-9515		
ITEM	SPEC	CMS DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
58	647	COLS CROSSWALK LINE, 8", TYPE B90	2,203.00	FT	\$6.59	\$14,517.77	\$6.50	\$14,319.50	\$7.60	\$16,742.80	\$6.40	\$14,099.20
		TRAFFIC SIGNALS										
59	632	ODOT REMOVAL OF TRAFFIC SIGNAL INSTALLATION, AS PER PLAN	1.00	EA	\$1,545.00	\$1,545.00	\$1,550.00	\$1,550.00	\$1,560.00	\$1,560.00	\$4,000.00	\$4,000.00
60	816	WEST VIDEO DETECTION SYSTEM, AS PER PLAN, GRIDSMART	2.00	EA	\$24,153.50	\$48,307.00	\$24,000.00	\$48,000.00	\$24,400.00	\$48,800.00	\$27,000.00	\$54,000.00
		MAINTENANCE OF TRAFFIC										
61	410	COLS TRAFFIC COMPACTED SURFACE, TYPE A	50.00	CY	\$50.00	\$2,500.00	\$20.00	\$1,000.00	\$57.00	\$2,850.00	\$50.00	\$2,500.00
62	616	COLS WATER	5.00	MGAL	\$100.00	\$500.00	\$10.00	\$50.00	\$350.00	\$1,750.00	\$1,000.00	\$5,000.00
		INCIDENTALS										
63	614	ODOT MAINTAINING TRAFFIC	1.00	LS	\$22,000.00	\$22,000.00	\$45,000.00	\$45,000.00	\$25,000.00	\$25,000.00	\$95,000.00	\$95,000.00
64	623	ODOT CONSTRUCTION LAYOUT STAKES	1.00	LS	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00
65	624	ODOT MOBILIZATION	1.00	LS	\$12,000.00	\$12,000.00	\$34,000.00	\$34,000.00	\$11,000.00	\$11,000.00	\$40,000.00	\$40,000.00
66	12604	WEST MAHNOLE, CATCH BASIN, INLET ADJUSTED TO GRADE, AS DIRECTED	1.00	EA	\$303.22	\$303.22	\$200.00	\$200.00	\$1,025.00	\$1,025.00	\$600.00	\$600.00
67	12604	WEST MANHOKE, CATCH BASIN, INLET RECONSTRUCTED TO GRADE, AS DIRECTED	1.00	EA	\$1,390.32	\$1,390.32	\$425.00	\$425.00	\$1,085.00	\$1,085.00	\$1,500.00	\$1,500.00
68	12604	WEST MANHOLE/VALVE BOX ADJUSTED TO GRADE, CONCRETE COLLAR, AS DIRECTED	10.00	EA	\$1,499.83	\$14,998.30	\$950.00	\$9,500.00	\$1,700.00	\$17,000.00	\$900.00	\$9,000.00
69	SPC	IRON CASTINGS, AS DIRECTED	2,000.00	LB	\$2.40	\$4,800.00	\$2.50	\$5,000.00	\$1.95	\$3,900.00	\$2.00	\$4,000.00
	TOTAL, BID ITEMS 1-69					\$948,537.97		\$1,037,938.80		\$1,086,788.18		\$1,231,527.77